N & o & AF & H A A
2019HIE £ 2 8 WS AVSTD
SH: ATEED
M HARAHAXR(2A/2HAR)

ool AYSH (B9 ®R)
S2A-ZH () - HRAY - BES Oif &4 JEH Husz
AYSTD 9,250,480 10,127,297 876,817

2 387,210 387,210 0

2 98,360 98,360 0

p] 2,000,974 2,000,974 0

= 1,620,588 1,620,568 0

Al 5,143,348 6,020, 165 876,817

SAYR MBI AR (2A/2AAR) 8,271,680 9,181,732 £910,052
2 320,547 320,547 0

s 98,360 98,360 0

p] 1,634,467 1,634,749 282

< 1,550,823 1,550,908 A 85

Al 4,667,483 5,577,168 2909, 685

AYSA 380,807 381,371 A564
p] 94,363 94,645 ~282

= 43,808 43,893 A85

Al 242,636 242,833 A197

NEVE-EE=1- PP T[N 188,725 189,289 A564
p] 94,363 94,645 ~282

= 28,308 28,393 A85

Al 66,054 66,251 A197

201 Let24d] 84,630 75,419 9,211
p] 42,315 37,710 4,605

= 12,694 11,312 1,382

Al 29,621 26,397 3,224

01 Ak 2tel 70,430 60,219 10,211
SETIER-Y 70,430 60,219 10,211

— 20N 28 L 22S 24,050 13,839 10,211

p] 12,025 6,920 5,105

= 3,607 2,075 f,532

Al 8,418 4,844 3,574

02 Tzl 5,200 6,200 A1,000
OxtZr o ethl 2,000 3,000 A1,000

— Xh2r M Yl (20) 1,000,00021 *2CH 2,000 3,000 A1,000

p] 1,000 1,500 A500

= 300 450 A150

Al 700 1,050 A350

301 LB A3 26,095 35,870 ~9,775
bl 13,048 17,935 ~4,887

= 3,914 5,381 A1,467

Al 9,133 12,554 ~3,421

09 BAIAIHI 243 767 1,170 £403
O2eNETH BT S(62) 767 1,170 A403

p] 384 585 A 201

= 115 176 A6

Al 268 409 A 141

12 JlEH2 & 2 25,328 34,700 £9,372
OB ¥ DS TALY 4,680 3,700 £9,020




SN ALY
B B ZAHIAXE(2A/PAR)
Sel: ASSH CERED
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
o 2,340 5,550 24,570
< 702 2,055 A1,353
Al 1,638 4,795 A3,157
OZcNEd 1=yl 108, 0002 *6 648 1,000 A352
| 324 500 A1T6
= 97 150 A3
Al 227 350 A123
AYMEAF ALY 69,640 69,640 0
201 2Bt | 9,670 8,640 1,030
01 AlR 22t 9,670 8,640 1,030
OB+ gl 9,670 7,800 1,870
—AYMBAH LDE 4,870 3,000 1,870
osgsg 0 840 A840
—AUMBAHANS FHAY 0 840 £840
301 LB A2 59,970 61,000 A1,080
09 BAIAHIB A S 5,970 7,000 A1,080
O E 5,970 7,000 A1,080
RSOtSHE HLEXAH AlE 3,000 3,000
< 3,000 3,000
201 2Bt | 2,135 2,100 35
= 2,135 2,100 35
01 AFR 22l gl 2,135 2,100 35
O+ gl 2,135 2,100 35
- NSNE Y ZRIY 29 S 2,135 2,100 35
< 2,135 2,100 35
307 21201 & 165 200 A35
< 165 200 A35
NIEEEEET 165 200 A35
Odz2g 228 S 423 165 200 A35
= 165 200 A35
AYBAL HEBA 25,000 25,000 0
= 2,500 2,500 0
Al 12,500 2,500 0
101 21248 1,938 10,500 1,438
= 5,969 5,250 719
Al 5,969 5,250 719
04 JAHBERSE S 1,938 10,500 1,433
O2CIHI0lE 1,938 0,500 1,438
~J123 868,400 %102 1% 8,684 9,000 ~316
= 4,342 4,500 A 158
Al 4,342 4,500 A 158
—Fg4g 75,4002+ 102 1,754 0 1,754
< 877 0 877
Al 877 0 877




2N
X ZH -
L= B

el

x

HAXNE (EA/EH498)

Y Y
o Y oY
0% 1o ol4

= A

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&

201 ¢er24| 8,542 9,980 A 1,438

< 4,271 4,990 AT19

Al 4,271 4,990 AT19

01 At 22l 8,542 9,980 N1,438

Oget=gHl 8,542 9,980 A 1,438

—ZE20H Y HLEES 29 8,542 9,980 N1,438

& 4,271 4,990 AT19

Al 4,271 4,990 AT19

SgHLsd 392,636 392,636 0

J| 196,318 196,318 0

< 58,895 58,895 0

Al 137,423 137,423 0

KAMNE SEHLSIANL(SSALSEAHR2Y) 3,240 3,000 240

J| 1,620 1,500 120

< 486 450 36

Al 1,134 1,050 84

201 Let24d] 3,240 3,000 240

J| 1,620 1,500 120

< 486 450 36

Al 1,134 1,050 84

01 Ar2 22l bl 3,240 3,000 240

Od=zEAE W= 3,240 3,000 240

J| 1,620 1,500 120

=) 486 450 36

Al 1,134 1,050 84

NAAMNS SSHASIAL(HEHB0SS & 111,100 111,100 0
EdA)

J| 55,550 55,550 0

= 16,665 16,665 0

Al 38,885 38,885 0

201 LEr2A | 7,000 9,000 A 2,000

J| 3,500 4,500 A 1,000

< 1,050 1,350 A 300

Al 2,450 3,150 A700

01 Ab22t2l bl 7,000 9,000 A 2,000

Oget=gH| 7,000 9,000 A 2,000

—HE0E0Ss, 2L EE2 MA(S

E) 7,000 9,000 A 2,000

J| 3,500 4,500 A1,000

=) 1,050 1,350 A 300

Al 2,450 3,150 A700

307 glz2tol & 100,780 98,780 2,000

J| 50,390 49,390 1,000

=) 15,117 14,817 300

Al 35,273 34,573 700

01 922724l 100,780 98,780 2,000

Oget® & 70 25 A SH| 86,980 84,980 2,000




A -2 (SH) - HREASY - B Ol A o4 I AR Hns2
Bl 73,490 72,490 T.000
= 13,047 12,747 300
Al 30,443 29,743 700
5 £8 115,226 115, 466 A 240
bl 57.613 57,733 A 120
= 17,283 17,319 N
Al 40,330 40,414 NI
78,026 78,266 A240
bl 39,013 39,133 A 120
= 11,703 11,739 A36
Al 27.310 27,394 84
78.026 78,266 A 240
78,026 78,266 £240
g2 9 = 2 22,521 22,761 A 240
J| 11,261 11,381 A 120
= 3,378 3,414 A36
Al 7.882 7.966 NI
5 £8 25,450 25,450 0
bl 12,725 12,725 0
< 3.818 3,818 0
Al 8,907 8,907 0
8,600 8,600 0
bl 4,300 4,300 0
= 1,290 1,290 0
Al 3,010 3,010 0
8,600 8,600 0
8,040 8,600 560
5,580 6,140 A560
bl 2,790 3,070 ~280
< 837 921 84
Al 1,953 2,149 A 196
560 0 560
560 0 560
J| 280 0 280
< 84 0 84
Al 196 0 196
5,204,128 6,098,592 894,464
2 285,810 285,810 0
2 98,360 98,360 0
9] 79,241 79,241 0
= 1,204,265 1,204,265 0
Al 3,536,452 4,430,916 894,464
Z2pEx2A AY 3,000,000 3,794,464 AT94,464
= 1,000,000 1,000,000 0
Al 2,000,000 2,794,464 AT94,464
! 2,800,000 3,504,464 AT94,464
= 900,000 900, 000 0
Al 1,900,000 2,694,464 AT794,464




2N
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L= B

el

in
NHIAT A (2A/8249 %)

=

FO MDY
Yoy
HL 10 o4

Y A

SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
01 A& HI 2,770,000 3,564,464 AT94,464
O33¢=xcld 22X e 1,000,000 1,794,464 AT94,464
S&tEedz A& 955,000 1,045,000 90,000
=) 10,800 10,800 0
Al 944,200 1,034,200 A 90,000
301 et A= 955,000 1,045,000 /90,000
=) 10,800 10,800 0
Al 944,200 1,034,200 A 90,000
01 MEIBEE 263 955,000 1,045,000 290,000
OsdEAZ2(XRHA) 919,000 1,008,000 90,000
NEALESLEH 283,500 293,500 A 10,000
301 LAz 264,300 274,300 A 10,000
01 Mel28E +06l= 85,000 95,000 A 10,000
Os&a =2 | 500,000& =170 85,000 95,000 A 10,000
gt 2 e ate| 1,935,652 1,936,576 AN Q24
J| 1,226,169 1,226,169 0
& 216,944 216,944 0
Al 492,539 493,463 A Q24
2otz XN&E 186,886 186, 886 0
J| 93,443 93,443 0
< 28,033 28,033 0
Al 65,410 65,410 0
101 1Al 0 3,939 A 3,939
J| 0 1,969 A 1,969
< 0 591 A 591
Al 0 1,379 21,379
04 JIZtHZ22 s+ 0 3,939 A 3,939
ogzel 0 3,939 A 3,939
—JlZs 0 3,006 A 3,006
J| 0 1,503 A 1,503
=) 0 451 A 451
Al 0 1,052 A 1,052
—F=X==¢ 0 602 A 602
J| 0 301 A 301
= 0 90 A 90
Al 0 211 A21
— 3= 0 151 A 151
J| 0 75 AT5
=) 0 23 A23
Al 0 53 A 53
— 2tAlH| 0 180 A 180
J| 0 90 A 90
S 0 27 N27
Al 0 63 AB3
201 LEt2E | 9,344 5,405 3,939
J| 4,672 2,703 1,969




SA: ALSAY
HM: BAABNUIAXR(22H/22H92)
ool g e (el @ e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Husz
= T.402 BT 5o
Al 3,270 1,891 1,379
01 At 2H2l | 4,296 357 3,939
Ogst+ 2| 4,296 357 3,939
- 2IYATANY 222 4,296 357 3,939
ol 2,148 179 1,969
= 644 53 591
Al 1,504 125 1,379
IEHAAL SN HE S 99,254 100, 178 £ 924
g 47,462 47,462 0
Al 51,792 52,716 924
201 Yete | 11,406 12,330 924
g 3,958 3,958 0
Al 7,448 8,372 924
01 At 2+2l I 9,508 10,432 924
O+t 9,508 10,432 £ 924
—FUAYSNHEH 2Y 22 9,076 10,000 £ 924
ol 3,742 3,742 0
Al 5,334 6,258 £ 924
HAALSTANY 33,960 33,960 0
401 Al HI L 2 CH I 9,800 10,600 £ 800
01 Al&H 9,800 10,600 £ 800
OFMAZ=XME S#ZHA 8,700 9,500 800
405 X+ &3 S| 800 0 800
01 &t 225 St 800 0 800
Ougs 600 0 600
OFXROI 200 0 200
Thas 0l 2 AL S 38,450 38,450 0
201 Yute S| 19,800 19,800 0
01 At 2H2l 15,000 14,000 1,000
Oger+ g 15,000 14,000 1,000
—- 223 ¥ NHHEANY SESHE 4,000 3,000 1,000
02 BBl 1,000 2,000 A1,000
Oxte ¢ et 1,000 2,000 A 1,000
RIOHOra HE 2 % 1,050,092 1,050,092 0
ol 840,073 840,073 0
= 105,010 105,010 0
Al 105,009 105,009 0
101 9121t 16,501 18,862 ~2,361
g 13,201 15,090 A1,889
= 1,650 1,886 £236
Al 1,650 1,886 ~236
04 JIZH2ENSES 16,501 18,862 ~2,361




2N
X ZH -
L= B

el

AYSE D
SAARMUIATR (22 /SAR)
TREESE R

SA-3H-S(3AH) - MRAS - BES Off &F o4 INEH Hns2
SEEEIED 0 2,361 A2,361
pJ 0 1,889 ~1,889
= 0 236 1236
Al 0 236 1236
307 ©I2+0| & 321,623 319,262 2,361
p 257,296 255,407 1,889
= 32,163 31,927 236
Al 32,164 31,928 236
01 2L 724l 321,623 319,262 2,361
OXIHER At eS8 ZABE(HSH B
H.2LH S) 2,361 0 2,361
pJ 1,889 0 1,889
= 236 0 236
Al 236 0 236
ge 258,957 257,557 1,400
= 34,737 34,737 0
p 38,376 38,376 0
= 26,911 26,911 0
Al 158,933 157,533 1,400
ARl 2HRIE 2RI 00 A 53,175 53,175 0
= 26,587 26,587 0
= 7,976 7,976 0
Al 18,612 18,612 0
101 @121t 18,291 18,291 0
= 9,145 9,145 0
= 2,743 2,743 0
Al 6,403 6,403 0
04 JIAHIEZRS B4 18,291 18,291 0
oA el Al A 18,291 18,291 0
-52224+¢ 92 0 92
= 46 0 46
= 14 0 14
Al 32 0 32
— W0 208 300 92
=2 104 150 ~46
< 31 45 A 14
Al 73 105 A32
201 LEre Al 8,580 8,580 0
= 4,290 4,290 0
< 1,287 1,287 0
Al 3,003 3,003 0
02 22| 3,000 3,000 0
Ot & 2t 1,714 1,800 186
—geAypel YWY RFH S 1,714 1,800 ~86
= 857 900 A 43
< 257 270 A3
Al 600 630 A30
oA EHEL3(40H) 1,286 1,200 86




2N
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NHIAT A (2A/8249 %)

=

0% HL ¥
MO Y oy
HL 1o oy

Y A

SN - SAGEA) - MRAY - BES 0] &k o4 0| % o Hl D&

= 643 600 43

=) 193 180 13

Al 450 420 30

THOote2tel 12,100 12,100 0

201 ¢er24| 2,340 2,000 340

01 AF22t2l bl 2,340 2,000 340

Oget=gH| 2,340 2,000 340

— Motk Ax=2Y 2¢ 2,340 2,000 340

301 LAz 1,760 2,100 A 340

12IJEEd=s 1,760 2,100 A 340

OZ20#H2YE 2A=¢ 1,760 2,100 A 340

HASE 024 A" H0otEelJl A Y 9,230 7,830 1,400

=) 7,830 7,830 0

Al 1,400 0 1,400

307 glz2tol & 9,230 7,830 1,400

< 7,830 7,830 0

Al 1,400 0 1,400

01 2222l 9,230 7,830 1,400

OMWE ==HlI(XtAH) 1,400 0 1,400

FR=A =[S 99,500 115,000 A 15,500

s XWU=XAH 29 75,500 91,000 A 15,500

201 Let24E] 49,500 65,000 A 15,500

01 AFR2t2lHl 49,500 65,000 A 15,500

O el 49,500 65,000 A 15,500

— XW=XSH Hotst 22 2 49,500 65,000 A 15,500

HE2AZAH (AL ST D) (IIEH/IIE) 860,410 858,805 1,605

= 66,663 66,663 0

J| 366,507 366,225 282

< 69,765 69,680 85

Al 357,475 356,237 1,238

e 2l 741,794 740,189 1,605

= 66,663 66,663 0

Jl| 366,507 366,225 282

& 69,765 69,680 85

Al 238,859 237,621 1,238

oI 2| 37,213 37,096 117

101 1Al 37,213 37,096 117

03 2N AHAAN22NHE =+ 37,213 37,096 117

O At 37,213 37,096 117

— A2 9,710& x1.5%8A| 2t 117 0 117
KNEAS SSALESIAL (SEH2SAAAH]) 53,230 53,230
J| 26,615 26,615
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F)(DIEH/DIEH)

e ry
1 0 oY
H0 MO Ol

02 02 ™
o
a
y
o
0l
>
=)

=5

2N -3 -2 (SH) - NHEMY - BES Off &F o4 I E M Hns2
= 7,985 7,985 0
Al 18,630 8,630 0
101 @121l 53,230 53,230 0
p] 26,615 26,615 0
< 7,985 7,985 0
Al 18,630 8,630 0
03 RIHA2ZRE 4 53,230 53,230 0
O sgALSIMS 22 53,230 53,230 0
—oixt g 348 630 282
p] 174 315 A4
< 53 95 ~42
Al 121 220 ~99
LS 282 0 282
p] 141 0 141
= 42 0 42
Al 99 0 99
HAAL SN ME SAT 22| 117,400 116,476 924
p] 56,838 56,838 0
Al 60,562 59,638 924
101 2121l 117,400 116,476 924
p] 56,838 56,838 0
Al 60,562 59,638 924
03 RIHA2ZX 24 117,400 116,476 924
OFUAL =N ME B2 () 254 0 254
—FYIRAY(YF) 127,008 2L *1Y 254 0 254
OBMALSTME BRE(Y) 670 0 670
—FUIRLY(AB2ALR)
114,000422 %2 456 0 456
—FUTRLY(RALHR)
107, 0008 22 *1% 214 0 214
NE RS b P -] 133,325 133,325 0
2 66,663 66,663 0
= 19,999 19,999 0
Al 46,663 46,663 0
101 1218 133,325 133,325 0
= 66,663 66,663 0
= 19,999 19,999 0
Al 46,663 46,663 0
03 RIAHAZ 2R 133,325 133,325 0
O A2 22l & 2 I HOH & 133,325 133,325 0
—oixt g 0 1,575 A1,575
2 0 788 AT788
= 0 236 £236
Al 0 551 A 551
- gg224+g 470 0 470
2 235 0 235
< 71 0 71
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